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1. A node with the data, “Brandon” needs to be inserted between two nodes, “Bethany” and

“Daryl”.
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Which step of the following needs to be performed first?
a. Update the value of the box, next in the node with “Bethany” first.
b. Assign the value of the box, next in the node with “Brandon” first.

Your Answer is b (a orb) (10%)

Why?
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Write the code to insert the node with “Brandon”. Remember to use a temporary variable to
move your peointer instead of moving by head. (20%)
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2. What is the advantage of using a LinkedList over an ArrayList?(10%)
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3. According to the linked list below, we want to move the p to refer to the node with data
“Bethany” if two variables, head and p referred to the node “Chu” already.
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How to move p to refer to the node “Bethany”

a. p.next = p

b. p = p.next

Your Answer is ‘D (aorb) (10%)

Why?
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4. How do you insert a node at the beginning of a linked list? Describe the procedure in English.(10%)
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5. How do you delete a node at the tail (end) of a linked list? Describe the procedure in English.(10%)
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